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I\/I1/I\/I2 =0.2.t=2.2 years.
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Gravity sim: I\/I1/I\/I2 =0.2.t=0.07 years.
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I\/I1/I\/I2 =0.2.t=0.43 years.

Gravity sim
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I\/I1/I\/I2 =0.2.t=0.75 years.
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Gravity sim: I\/I1/I\/I2 =0.2.t=1.2years.
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Gravity sim: I\/I1/I\/I2 =0.2.t= 1.9 years.
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M1/I\/I2 =0.2.t=1.45 years.
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Gravity sim: I\/I1/I\/I2 =0.2.t=1.74 years.
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Gravity sim: I\/I1/I\/I2 =0.2.t=2.43 years.
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Gravity sim: I\/I1/I\/I2 =0.2.t=2.71 years.
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I\/I1/I\/I2 =0.2.t=2.92 years.
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Gravity sim: I\/I1/I\/I2 =1.t=1.21 years.
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Gravity sim: I\/I1/I\/I2 =1.t=1.538 years.
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Gravity sim: I\/I1/I\/I2 =1.t=2.3 years.
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Gravity sim: I\/I1/I\/I2 =1.t=2.97 years.
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Gravity sim: I\/I1/I\/I2 =1.t=3.57 years.
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I\/I1/I\/I2 =1.t=7.39 years.
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Gravity sim: I\/I1/I\/I2 =0.01.t= 0.26 years.
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Gravity sim: I\/I1/I\/I2 =0.01.t=0.42 years.
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Gravity sim: I\/I1/I\/I2 = 0.01.t = 0.55 years.
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